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Exam tips


Advice on key points in the text to help you learn and recall content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summaries





•  Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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About this book


This guide is designed to prepare you for the AS and A-level OCR macroeconomics exams. The guide covers all of the content required to sit the AS exam and approximately half of the content required to sit the A-level exam. It includes sample questions and answers to prepare you for both papers.


The guide is split into two sections:


Content Guidance


This section details the core macroeconomic themes and models you need to understand to excel in this course:





•  Economic policy objectives and indicators of macroeconomic performance



•  Aggregate demand and aggregate supply



•  The application of policy instruments



•  The global context





You should make sure you have fully mastered all of the content in this guide before progressing onto the practice questions. Use the knowledge checks as you work through the guide to test your understanding and take on board the exam tips to avoid falling into the traps that most commonly result in students losing marks. At the end of each topic area there is a bullet-pointed summary of the content covered – if you are unable to offer a detailed explanation of any part of this, you should read the section again to clear up any misunderstanding.


Questions & Answers


This section begins by setting out the format of the AS and A-level OCR macroeconomics exam papers. It gives you advice on how long to spend on each question and offers important tips on how to maximise your marks on the different elements of the paper. It also explains the levels system used to mark essays.


This is followed by a series of sample questions, covering all the different types of assessment seen in both the AS and A-level papers – multiple-choice, data response and essays. After all these questions there are some example answers from students. You should practise all these questions yourself and compare your answers to the example answers while reading the detailed exam advice to improve your understanding of what is required to achieve full marks.





Content Guidance


Economic policy objectives and indicators of macroeconomic performance



Economic growth


Economic growth represents an increase in the total output produced by an economy. It is often considered to be the most important macroeconomic policy objective because an increase in output essentially means there are more goods and services available for consumers to enjoy, therefore raising individuals’ material standard of living. In developing countries, where poverty often exists because of a scarcity of resources, increasing the availability of resources (which economic growth achieves) is clearly crucial.


The government targets sustainable economic growth. This is important because a one-off period of growth which is not sustained over time, or growth which occurs by using up finite non-renewable resources and therefore results in reduced potential output in the future, is not desirable as it will not lead to the long-term improvements in standard of living targeted by the policy objective. There is clearly a trade-off between rapid economic growth today and growth in the future; the sustainability element of the objective attempts to address this conflict.


It is important to understand the difference between short-run and long-run economic growth:





•  Short-run economic growth – an increase in actual output produced in an economy. In Figure 1, this can be illustrated by the movement from production point A to production point B, where existing factors of production are used more fully or efficiently to increase the level of output.



•  Long-run economic growth – an increase in potential output. In Figure 1, this can be illustrated by a shift in the production possibility curve from PPC0 to PPC1. It does not mean that more output has actually been produced but means there is the potential for output to increase in the future as a result of an increase in the economy’s productive capacity.







[image: ]


Knowledge check 1


Explain how Figure 1 could be used to illustrate short-run and long-run economic growth occurring simultaneously.
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Measuring economic growth


Economic growth is calculated by measuring the percentage change in gross domestic product (GDP) in the economy per annum. It is important to understand the difference between real and nominal GDP growth. Change in real GDP is a more accurate measure of economic growth because it accounts for the effects of inflation – any increase in nominal GDP does not necessarily suggest that output has increased, as it may simply be the case that rising prices have increased the value of that output. For example, nominal GDP growth of 2.4% at a time when the rate of inflation was 2% would suggest that real GDP has increased by only 0.4%.
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Knowledge check 2


If a country’s GDP increases from $537 billion to $583 billion and the rate of inflation is 4.1%, calculate the rate of economic growth.
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GDP is a desirable method of measuring economic growth because it is easy to interpret and relatively straightforward to calculate, allowing for comparisons between countries to be made. It provides a very clear indication about the material standard of living in a country. However, there are a number of difficulties involved in measuring economic growth which it is important to be aware of:





•  Population differences – GDP does not take into account the dramatic differences which exist between the populations of countries. Just because China’s GDP is higher than the UK’s does not mean Chinese citizens have a higher material standard of living – their population is more than 20 times bigger!



•  Inequality – GDP measures the total output produced in an economy but gives no sense of how this is distributed; standard of living may on average be higher in a country with lower GDP but a more equal distribution of income.



•  Informal economic activity – much output that is produced is non-marketed (such as production which takes place within households for their own consumption). In some countries there is also a large black market, where illegal production and exchange accounts for a large volume of economic activity. In countries where there is a significant amount of informal economic activity, GDP is likely to underestimate total output.



•  Social indicators – economic growth cannot alone be used to measure standard of living because there are many other factors which affect individuals’ well-being, such as their access to education and healthcare. In fact, in some instances economic growth can cause direct harm to well-being, such as production that takes place which harms the environment.
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Exam tip


A developing country’s economic growth rate could be overestimated because as countries develop, economic activity moves from the informal to the formal sector. Therefore, some of the ‘increase’ in output may not really represent increased output – much of the output may have been produced before but not have been recorded.
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One way to account for differences in population is to use GDP per capita to measure economic growth. This can be calculated by:


GDP per capita = Real GDP ÷ Population


This gives a more accurate indication of standard of living within a country and enables comparisons to be made between countries which have different populations.



Causes of economic growth


In the short run, economic growth can be achieved simply through better or increased utilisation of existing factors of production. In the long run, economic growth can be achieved by expanding the economy’s productive capacity. This can happen as a result of an increase in the quantity or quality of factors of production. The quality of factors of production is often measured in terms of their efficiency.


The following table summarises how the quantity or efficiency of the factors of production can be increased.






	Factor of production

	Quantity

	Efficiency






	Labour

	Any factor which causes an increase in the size of the labour force through population growth or increasing participation rates.

	Education and training is the primary tool used by governments to improve workers’ productivity.






	Capital

	Investment in capital such as machinery. Note that there is an increase in the quantity of capital only if net investment is positive – if investment is simply replacing the depreciating capital there is no increase in the quantity of capital.

	Technological progress means the efficiency of capital is advancing constantly over time.






	Land

	The discovery of natural resources has been important to the growth of resource-rich economies.

	Development in agricultural techniques, such as crop rotation, is a good example of how land can be used more efficiently.






	Enterprise

	Ensuring there is a strong market incentive increases the amount of entrepreneurship in an economy – many countries transitioning from command to market economies have experienced a significant increase in the quantity of enterprise as a consequence.

	Enterprise education is an increasingly important part of the government’s education provision in some nations. The government can also incentivise enterprise through supporting small businesses.








Consequences of economic growth


Generally economic growth is considered beneficial to an economy for the following reasons:





•  Increases material standard of living – rising GDP per capita means individuals are able to afford more goods and services.



•  Reduced unemployment – more workers are needed to produce the higher level of output, meaning there is a higher derived demand for labour.



•  Improves public services – the government will receive more tax revenue as firms are making greater profits and individuals are earning higher incomes and spending more. Benefit payments fall because more people are in work. This means the government has more money to spend on providing public services such as health and education.
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Knowledge check 3


Give examples of how a country’s population and participation rate could increase.
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Knowledge check 4


How can economic growth help to reduce poverty?
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However, there are some important drawbacks of economic growth which need to be considered when evaluating these benefits:





•  Environmental harms – if the increase in output generates pollution or causes environmental degradation, it could harm the quality of life of current and future generations.



•  Worsens well-being – if the increase in output is caused by people working longer hours this could reduce the amount of time people have to consume leisure, which has a negative impact on their well-being.



•  Worsens inequality – if the wealth generated from increased output benefits only a small section of the population, this can actually increase the gap between rich and poor, worsening the distribution of income and wealth.



•  Increases inflation – if the economy is growing too quickly and aggregate demand is rising more quickly than aggregate supply, economic growth can generate demand-pull inflation.






Recessions


An economy is in a recession when there is negative GDP growth for two consecutive quarters. The UK experienced a prolonged period of recession in 2008–09, when output fell for five consecutive quarters.
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Exam tip


Remember that an economy is not in recession when the rate of economic growth is falling but when it is negative – i.e. output has to be falling, not just rising at a slower rate.
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Recessions have the potential to cause significant harm to an economy. Assuming the size of the population is unchanged, falling GDP means GDP per capita is falling, meaning individuals’ material standard of living declines because their real incomes are falling. Moreover, because of falling aggregate demand, firms begin to lay off workers, meaning unemployment rises. This puts pressure on the government budget, which is faced with increasing demands for benefits at a time when tax receipts are falling. A budget deficit is therefore inevitable, which will add to the size of government debt. This can become particularly problematic when the government has not been running a budget surplus during times of economic growth; this occurred in the aftermath of the 2008 financial crisis, when concerns arose about the size of the national debt, which was being added to every year because of a large budget deficit.



Employment and unemployment


The number of people employed – either as employees working for firms or organisations or as self-employed individuals working for themselves – stood at approximately 30 million in the UK in 2014.


It is important to understand how different individuals in the population can be categorised. The population is comprised of two groups of individuals:





•  Working age population – the number of people living in the UK aged between 16 and 64. It is important to note that while an individual aged 65 is not considered part of the working age population because the retirement age still stands at 65, this does not mean that no individuals aged 65 and above are in employment – one of the features of the labour market today is that an increasing number of older workers are participating in the market.



•  Those outside of working age – this represents children under the age of 16 (most of whom will be in education) and individuals over the age of 65 (most of whom will be retired).
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Knowledge check 5


Give examples of groups of individuals who would be classed as being economically inactive.
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The working age population can then be divided into a further two sub-categories:





•  Economically active – individuals of working age who are willing and able to work.



•  Economically inactive – individuals of working age who are not looking for work because they are either not willing or not able to work.





The number of individuals who are economically active is referred to as the labour force. The labour force is comprised of individuals who are both employed and unemployed.


An important macroeconomic objective is to achieve full employment. This occurs when the vast majority of individuals who are economically active are in work – there are few individuals who would like to work who cannot do so. This is clearly vital, as an economy which is not achieving full employment is not utilising all of its factors of production, meaning output will be lower than it could be. It is difficult to put a numerical value on full employment because it is not equal to zero unemployment – this would be an unrealistic target, as realistically there will always be individuals moving between jobs; while these individuals are temporarily unemployed, this is an inevitable outcome of a flexible labour market rather than a sign of resources being wasted.


Reducing the rate of unemployment is always a priority for the government, as it enables output to increase while at the same time improving the government budget by reducing the number of people claiming benefits and increasing tax receipts. It is interesting to see how in recent years an increasing focus has been placed on reducing the rates of economic inactivity by reforming the benefits system and improving the availability of childcare. This is of course another method of achieving economic growth, as when individuals transition from being economically inactive to economically active the size of the labour force increases, expanding the economy’s productive capacity.
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Knowledge check 6


Which measure of unemployment is likely to give the largest unemployment rate? Why?
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Measuring unemployment


There are two measures of unemployment you need to know about for the exam:






	 

	Claimant count

	International Labour Organisation (ILO) unemployment rate






	Method

	Measures the number of individuals in receipt of unemployment benefit (Jobseeker’s Allowance). To be eligible, individuals must declare they are out of work and actively seeking work in the week in which the claim is made.

	This is measured through the Labour Force Survey, asking individuals whether they are unemployed by seeing whether they are: without a job, have actively sought work in the last four weeks and are available to start in the next two weeks OR are out of work, have found a job and are waiting to start it in the next two weeks.






	Advantages

	This can be measured easily and cheaply as the government already has a record of the number of people claiming unemployment benefit.

	It allows for international comparisons as the ILO measure is used across the world. It includes many individuals who are unemployed but are excluded from the claimant count.






	Disadvantages 

	It includes many individuals who claim they are seeking work but in reality are not actually prepared to work. It excludes many individuals who are unemployed but are not eligible to receive benefit or who choose not to claim benefit. This is a particular problem in countries without an established benefits system, where there is no incentive for individuals to ‘sign on’.

	Because the estimate is arrived at through a survey, it involves extrapolating from a sample of data to give an estimate of the rate of unemployment across the whole country. This means the estimate is unlikely to be wholly accurate.







A trend which has been evident in the UK labour market in recent years is rising underemployment. Individuals are defined as being underemployed when they are in work but not being utilised to their productive capacity. Examples include individuals who are working part time because they are unable to find full-time employment and individuals who are in jobs significantly below their skill level because they cannot find work which more closely matches their qualifications. This group of individuals is of interest to economists as, like the unemployed, it demonstrates potential capacity which is not being utilised. However, such individuals are not accounted for in unemployment data because they are in work.



Causes of unemployment


Unemployment can be categorised into a number of different causes:





•  Frictional unemployment – at any one time there will be a number of individuals without work because they are between jobs. Job search is rarely instantaneous – when an individual leaves one job they will be engaged in a period of search or will be waiting to start their new job. This type of unemployment is short term and therefore not particularly damaging.



•  Structural unemployment – over time, the nature of economic activity within an economy changes. Structural unemployment occurs when the skills of workers do not match the needs of firms which are expanding. For example, a number of highly skilled workers in the manufacturing sector experienced structural unemployment in the late 1980s as industrial production was outsourced to low-wage countries; these workers’ skills were therefore no longer demanded and these same individuals did not have the skills required by the emerging tertiary-sector firms. Such workers are likely to remain unemployed in the long term unless they are able to train for a different profession.
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